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Question Booklet SET-

UNIVERSITY OF NORTH BENGAL |

B.A. 1st Semester Examination, 2019
ENVIRONMENTAL STUDIES

AECCENYVS
Time Allotted: 2 Hours 30 Minutes Full Marks: 80

The figures in the margin indicate full marks.
Candlidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

[ Instruction ]

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet SET on
the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the candidate will be solely
responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the
Answer-Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one
answer / option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: @ 0 00O

Answer all the questions: / F=fRag T U & SR ARTT: /
IS T Ted WSS / TS TREwd! SR [Aa:

ik The term ‘ecosystem’ was first coined by
(A) Odum (B) Tansley (C) Rachter (D) Both ‘B’ and C’
'THINTH “ecosystem’ G bl AT YIANT fhar o |
(A) &fres (B) Tivet (C) &R (D) ‘B’ wd C’ gl
YRETN =lbx 7oA 2Te! 2w
(A) €El¥ (B) Brice (C) IR (D) ‘B’ 8 ‘C’ Teag
SHINRCH IR FAUTH FIATAT TS ARRp
(A) 3irsH (B) T (C) =aTarex (D) ‘B’ &1 “C’ g
2. Which of the following ecosystems has the highest gross primary productivity?
(A) Grassland (B) Coral Reef (C) Mangroves (D) Rain forest
e & @ b aiRRafat 73 % Ja i bt T Scaredar @ 2
(A) TR B) varet da-90ft  (C) Hum (OELIEE
forferfie i argece iR b 2T et ot 3w ¢
(A) Pergfil (B) &1 5t (C) rare (D) & ==ely
1121 b Turn Over
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Rreferad @ WA= FafEd ol s IEhd e ?

(A) bref
(C) =i

Ecotone is characterized by
(A) Forest ecosystem

(C) Terrestrial zone

SPICH &) fadvar B
(A) a9 TTRRerfae! o=
(C) I &

PeCEISIREES]
(A) SR G
(C) TT& g

SHICHBT IR &
(A) T UIRT=
(OEERI

Sunderbans contain mainly

(A) Mangrove trees (B) Fir forest

Gexad § eI & §

(A) Hura get (B) %R STl
IR YT L I
(A) Tats Sfen (B) TR o=

R YT TS
(A) R geEH (B) HR STl

Which one is not a pollutant normally?
(A) Hydrocarbon
(C) Carbon dioxide

HETIE: P UGS el 8 7
(A) ETSRIDIE
(C) T1E TSRS

(B) ®Rel B
(D) auia

(B) Transition zone between two vegetation

(D) Zone of transition between water and land

(B) &1 aREfral & drel T &
(D) STt Td el & dra JAspHOT &9

(B) 76 SRR SIS AT T2
(D) ST 8 FETH TS| ToAIB S

(B) 33T SRTATHD] HATR I
(D) ST S Rerel T HISTeh] BRI el

(C) Alpine trees (D) Grass

(C) TS et (D) =T

(C) SR Sfgr (D) T

(C) 3reure gele®s (D) €1

(B) Carbon monoxide

(D) Sulphur dioxide

(B) BEA AFISTRITSS
O REAESIESIERIES
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fafeiRe @El MaFerei 73 =1 9 .
(A) G (B) T AT (C) IRATR ARG (D) AT L HIZC
HROI: NG Iguh 8IS
(A) ETSSIBIET (B) H AFsifaagS
© GACE] SIS S (D) BN SIECIESIES)
6. Identify the correctly matched pair:

(A) Basel Convention — Biodiversity Conservation
(B) Kyoto Protocol — Climate Change
(C) Montreal Protocol — Global Warming

(D) Ramsar Convention — Groundwater Pollution

TP TS BT I BN
(A) S TR — ol fafderar HReror " (B) I UIEIbid — Sedry giRac
(C) Hifscacet Weldld — qHSed SHERU (D) HAR THAT — oTed TG0

FIT TATAZ I FNGTA! Pl

(A) T AT — (& (o) IR (B) a1 et — wiRRiew oo

(C) WG (Montreal) wfewt — e TR (D) AT AT — GorSE Tty 73

SEEACISRCEEE|

(A) TS TS — Siafafaerr e (B) RITeT W¥IGT — Sietdry aRkads

(C) Aifveaer 7RlleT — afRgs Sarwdn (D) YENR G — oo gguor
T World Environment Day is celebrated on

(A) 28" February (B) 5™ June (C) 7™ August (D) 10™ April

faeg qataRvr fegs A= S @ .

(A) 37T TR (B) Ufa S (C) |1 ST (D) < 3t

ey st fwat Ao =

(A) b TR (B) €2 gH (C) a0 (D) S0 @fere

fIeg wafaRer fagw a=mes fAfd

(A) 3gIgd Bl (B) Ura S (C) |Ta T (D) & 3
8. The Air-Prevention and Control of Pollution Act came into force in

(A) 1981 (B) 1985 (C) 1990 (D) 1975

arg (ST AR gd fiEm) sffeRm @ gan

(A) 1981 (B) 1985 (C) 1990 (D) 1975

G RS IS TR SR AT o713~ @ et vy =

(A) dobd (B) Sob-¢ (C) dos0 (D) d5a¢

1121 3 Tur’Over
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10.

11.

12.
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qY-TENOT b A FRI0T O AN AUl et

(A) 1981 (B) 1985

Noise pollution is measured in

(A) Hertz (B) Fathoms
T TEEOT BT A BT BT

(A) Bl (B) B
3 gel il e Mol =

(A) e (B) T
eqfe TguoT I YaTS

(A) T (B) BT
Anthracosis is caused by

(A) Coal dust (B) Silica
Tl IR RTd HROT Bl ©

(A) BT BT A (B) fuferasr
SIRICHI T = =

(A) FET Tl (B) ffermt
TR ITHT BRI

(A) DIFATDT el (B) ffera

The Wildlife Protection Act was passed in

(A) 1952 , (B) 1955

TR HReror ST TRd B @1 ad
(A) 1952 (B) 1955
“GqTTeNET (AGTE F @A O
(A) S5 (B) So@€
FRIAIa GRETT U UIRA AU AT

(A) 1952 (B) 1955

Chipko movement is related to

(A) Forest conservation

(C) Preservation of threatened species
(A) T REToT :

(C) HHSUTRT USTIel &l HReTT

(C) 1990 (D) 1975
(C) Nanometer (D) Decibel
(C) FeR (D) Rras

(C) TiEARoR (D) R

(C) fex (D) SRae
(C) Iron dust (D) Cane fibre
(C) e g (D) 3a 1 =T
(C)ﬁqéw.r (D) @© S

(C) AT el (D) IdHI T=T

(C) 1972 (D) 1982
(C) 1972 (D) 1982
(C) 5593 (D) Sobr3
(C) 1972 (D) 1982

(B) Prevention of soil erosion
(D) None of these

(B) §aT 3RS BI HAH
(D) S & g &I
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ottt ewieT 7 e sl
(A) S=ely I B) IR (C) Row erwifon skl (D) =g 77
forepT amVsTe SR Wt B 2
(A) T HReoT (B) &R HETSHT RIepT
(C) AheTIs JoTTferepT SHReToT (D) & U g
13. Symbol of WWF is
(A) Tiger (B) Red Panda (C) White Bear (D) Giant Panda
WWF &7 Wi @ ;
(A) 919 (B) <TTeT uisT (C) e el (D) faemersra aier
WWF-43 28} e
(A) 3 (B) 1 i (C) #mi SR (D) ey
WWF &1 o) & ‘
(A) 99 (B) &9 (C) Jar e (D) faemererg
14. Kanha National Park is famous for
(A) Birds (B) Rhinoceros (C) Tiger (D) Crocodile
PIEl IS S fhds e ufg & 2 '
(A) TehY (B) fsr (C) T8y (D) TR®
IR SIS T 7 &y R
(A) AR (B) aia ()3 (D) T
DIET T T & B Y uRIE B ?
(A) =RT-Fo0 (B) st (C) g (D) RH®
15, Deforestation will decrease
(A) Soil erosion (B) Soil degradation (C) Landslide (D) Rainfall
ERRCEIN: Il i
(A) 4T RS (B) T sraeheior (©) xger (D) 9§t
Y R FCE (TG 29 2f1%
(A) gy (B) MeFR o™ (C) o7 (D) Jf2+tre
SHTeTd! AR & Ty w 2
(A) oY PFers (B) ATCT! ORERAT fiRTae
(C) wettr (D) =&

16.  Who is known as ‘Waterman of India’?
(A) Anna Hajare (B) Rajendra Singh  (C) M.S. Swaminathan (D) Subhash Dutta

”
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‘Waterman of India’ & ¥ J 5y ST e '

(A) 3T BN (B) XTor= 8 (C) TH. TH. WHFRA (D) gAY &=

“Waterman of India’ =Gt #if&b® &t 2

(A) S & (B) Alter e (C) @&, ML (D) eI¥ 78

“Waterman of India’ =¥el aRfa <t g1 )

(A) 3T TR (B) Xror= g (C) T8, Ta. WrAeRA (D) g9Td &9
17.  Black foot disease in humans is caused b;

(A) SPM (B) Cadrium -+ (C) Arsenic (D) Fluorine

T # = G AT D PR

(A) SPM (B) HsfRiH (C) i (D) TR

(A) SPM (B) SRR (C) W (D) Fef=

AT Th B T DI BRI

(A) SPM (B) FTSiTH (C) 3m=ife (D) TARM
18.  Who is the ‘Father of Green Revolution’ in India?

(A) R. Rajagopalon (B) Dr. Norman Borlaug

(C) Birbal Sahni (D) M.S. Swaminathan

9yRa ¥ 'gRa Hifd @ T H DA ©

(A) 3R, JSTTE  (B) Sf. A SRR (C) ST |rel (D) TH. TH. R
SIS S RARE T T

(A) O, AEANAR  (B) T3 TR el (C) Raet szl (D) @¥.4%, FAF
YRaadT BRA il far dees AfD ?

(A) IR, JSFNATEE  (B) ST AHA el (C) faxaa e (D) TH. TH. e

19.  Neora Valley of West Bengal is a
(A) Reserve forest (B) National Park (C) Normal forest (D) Sanctuary

=M el @ <A1 91el Ub =

(A) SRferd a9 (B) T QT (C) I SiTTe (D) IIRTY
AR5 el i & G

(A) FKAFFS I (B) SR Bwils (C) A IS (D) Sr&F)
g dTTe Reid SIS SUHT AR B Bl ? —

(A) Sferd &= (B) IIftza SgH (C) IR Sifel (D) IMIRTY

1121 6
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20.

21.

2078

231

181211

Plants take up nitrogen as

(AN, (B) NO, (C) NOs
de e % w9 # o §

(A) N, (B) NO, (C) NOs
Tfgn WIRCTICer aizel e & et 2

(A)N2 (B)NO; (C)NO;
TIRYfC ASEIO G HUAT T8 TS ?

(A) N, (B) NO, (C) NOs

Which metal is responsible for ground water pollution?

(A) Cd (Cadmium) (B) Hg (Mercury) (C) Arsenic (As)
HoTeT Yguul & forg & 1 ag ReRR @

(A) SSFIH (Cd) (B) URT (Hg) _ (C) Iif® (As)
§-91SF & IO Gl W (S 2o

(A) FIeREN (B) A% (C) wcfe=e
YSTel TEuUEl H 97 STFER © 2

(A) FTSEE (Cd)  (B) 7o (Hg) (C) ST (As)
Bhopal Gas tragedy took place in

(A) 1974 (B) 1984 (C) 1986

ATt I FT g8 oA

(A) 1974 (B) 1984 (C) 1986

CSIiieT 9i7ia TG (3 I=Aee 2R fRe

(A) 5598 (B) >ob-8 (C) Soby

WISl T AT A AT YD & 2

(A) 1974 (B) 1984 (C) 1986

Which of the following is an organic substance?

(A) Phosphorus (B) Sulphur (C) Lipids
fA=foiad 9 & &9 |1 tF Sifde uaref § »

(A) BRHRE (B) e (C) forfus
BT (TR TG 27 9

(A) TR (B) AT (C) ferfore
TlPMER B TN Sifdd 9w & ?

(A) TR (B) TR (©) s (o)

(D) None of these
(D) 514 ¥ ®1g &l

(D) FIABE

(D) B i B
(D) Zn (Zinc)
(D) RS (Zn)
(D) f&=

(D) 1% (Zn)
(D) 1989

(D) 1989

(D) S5t

(D) 1989

(D) Nitrogen
(D) T
(D) LB

(D) ZETo

.
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24,

258

26.

27.

1121

‘Blue Gold’ name is associated with

(A) Jute (B) Water (C) Fish
(A)S[e (B) ST (C) 7ol
Rt TP S TS GO T T 7

(A) AT (B) &t (C) =
Al g T BT TR B 2

(A)dre (B) Uit (C) wrsT

How many bio-geographical reg ‘ns are présent in India?

(A) Three (B) Four (C) Seven
IR # Rpam Sta-rnfers & AioE €

(A) T (B) @R (C) wrd
ST T AR RFRIET St T ?

(A) To=16 (B) 56 (C) reb

T YRIHT Biadel Sg-HIidd 3Eeied gD ?

(A) e (B) ARacl (C) \rqacT

Which gas is mainly produced due to incomplete burning of wood?

(A) CO (B) SO, (C)NO;

TS B R WO D PRO GG B W A S Bl
(A) CO (B) SO, (C)NO,
ERRIS oI T ToTe P10 Sr2iel TG IR BRofA = 2

(A) CO (B) SO, (C) NO,

BT STENRIee! geal TEId: G U S~ §9 ?

(A) CO (B) SO (C)NO,

Lignite, bituminous and anthracite are different types of
(A) Nuclear fuel (B) Coal (C) Natural gas

forge, Ricfime vd torarse RAfsT JoR & 2

AT $E (B) P (C) uTpfaed I

Rreienizn, RERmAE @k SIRAIRS 21 [Kien w@os

(A) AeRF gEE  (B) T (C) &FfoT I

forge, faghrm oY TrrTge & @1 fafi=T JeREs g1 7

(A) RAVa® ge=  (B) Pigall (C) UTpicies 7o

(D) Crop
(D) B
(D) *% -
(D) 3F=TaTed!
(D) Ten
(D) <9

(D) wib
(D) <¥aeT
(D) NOs
(D) NOs

(D) NOs
(D) NO3
(D) Biogas
(D) vig
(D) A

(D) SiqwaTs
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30.

31.
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Grassland of USA is referred to as

(A) Prairie (B) Steppes (C) Pampas (D) Veldts
YR TS FARDT & ATAH DI @ Y # ST ST § —

(A) T (B) = (C) T (D) a8
USA-@3 97efite @ 1 Sad st = _
(A) @2 (B) T5tom (C) 2= (D) (&5
g ¥ SRReE R o B 9 2

(A) T (B) ®IH (C) Trears (D) #eed
Which forests have maximum diversity?

(A) Subtropical rainforests (B) Coniferous forest

(C) Tropical rain forests (D) Deciduous forest

b1 9= & waifdre fafqear 8

(A) SUIwTH e gufas (B) TpaNI a7

(C) Swrsfesdia auiga (D) 9OMIRIT

(1T ety TP (Ao oiieR 2

(A) ST ==Y (B) FERARSRY  (C) FROTIR O (D) A5 oy
G I Haifte Aafafaear ugws ?

(A) SU-SWHICag T (B) BIN®HRA &

(C) 9w Hfcawig auf a7 (D) gofurcht o=

What is the pH value of normal rain water?

(A) 1 (B) 5.6 ©) 8 (D)7
| a9t STel &1 pH A fba= 8ier @ 7

(A) 1 (B)5.6 )8 (D)7
Tl 3R &0t pH-93 N 9 9

(A) 1 (B) 5.6 (C)8 D)7
HER 9! pH B A B g0 ?

(A) 1 (B) 5.6 (©) 8 (D) 7

Total organic matter present in an ecosystem is called

(A) Biomass (B) Biome (C) Litter (D) Food
T yiRfRefdat 3 #§ Aieg {1 9fae yared &7 wer oI & —

(A) I (B) 914 (C) forex (D) @&
G AT TS QIS (1 i e =7

(A) T (B) 3lca (C) Bio= (D) 2wy

»

9 Turn Over




UG/CBCS/B.A./1st Sem./Environmental Studies/ AECCENVS/2019

32,

33,

34.

35.
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WWW@WWWWE%— :
(A) I (B) Sl (C) forsx (D) @@=

Which of the food chains directly depends on solar radiations?

(A) Predatory (B) Grazing (C) Detritus (D) None of these
ﬁ@wa@ww&ﬁwﬁvﬁ%ﬂwwﬁﬁimé

(A) R (B) =R (©) sfeed (D) T & PIg Tel
@ AR TR G R Bef ea v

(A) P (B) caifer (C) Cefor, (D) FICAIHR T
et fAfBROT G e e TRIAT TS ?

(A) R (B) o1& (©) sfee (D) & = 7 AT B
The process of nutrient enrichment in water is termed as

(A) Eutrophication ) (B) Limiting nutrients

(C) Biomagnification (D) None of these

a3 iy qed B e @ WA BT BT S

(A) guIwr (B) Wt dre e (C) S el (D) 574 | BIg &l
o +|fE T eferes 3=

(A) TSGR (B) At *ff2 (C) ARTHIREE (D) PR
qriT ST Fade ufharers @ A ?

(A) eIt (B) Wifdd dives T (C) IR (D) B T BI%T
Which of the following is not a water borne disease?

(A) Typhoid (B) Scabies (C) Cholera (D) Hepatitis
Ryt 3 < P A1 ool S T e R

(A) TRBES - (B) ThaISl (C) Boi (D) TUeSicd
AEFRS @b SRS G 7 ?

(A) BiRFEe (B) =R (C) IR (D) EABIEGH
qR A ERT &Y AT qererTed B e e ?

(A) TEPIES (B) wHfasT (C) & (D) gureTEfeH

Biochemical oxygen demand (BOD) means

(A) Industrial pollution

(B) Air pollution

(C) Polluting capacity of effluent

(D) Dissolved O, needed by microbes to decompose organic waste

g T STaiIe |/ (BOD) W € ?
(A) JMENfres TgueT
(B) aig wgmT

(C) T B HGHUIGNT &
(D)@ﬁwam%aﬁﬁv%ﬁmﬁzﬂ%{qmsﬁmgﬁﬁaﬁﬁmﬁaﬁmw

10
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37

38
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A BRErE SfHe sifgwl & ¢

(A) FEPIFANR 779

(B) I 7

(C) 7R et vl

(D) TG Torowle R &) TG FAGS SIS

TR ASHA TRiTS J1T (BOD) 1 aref

(A) Rred T

(B) a1y wiguYr

(C) T & :

(D) SquerRiers Hars®! T Siamernd afRe s seiom

The target ‘Green house Gas’ emission was an outcome of the international conference at

(A) Stockholm (B) Kyoto (C) Paris (D) Rio-de-Janeiro
(A) EiwmeH (B) TITeT (C) uR= (D) Rar-fe-smRkar
“&1T 2T 97T G 15 3TRel T ST (X SIS o AT (A0 ©Co GTHRet G 2@
(A) BT (B) caicet (C) *nifd™ (D) e ¥ i
BRAER TN BT SHOHETS o6l TR SIRINET e $af quaT ) 2
(A) THEM (B) FreT (C) uR= (D) Rar-fe-w=Rar
Which city of the world has been tagged as ‘zero water’ or ‘waterless city’ in 2018?
(A) Capetown (B) Jodhpur (C) Nairobi (D) Khartoum
2018 ¥ fo%q & P ¥BR B "WOR[Y I SAGE T b WU § fAfEd fhar way § 2
(A) PueTST (B) SegR ©®RE  D)ERrE
SR I ==AF 05 A TP (Il T R 2
(A) GoIBrE (B) M7 (©) TR (D)
2018 A1 fazqep! H7 WexATs STg A UrfaTDT TER =y IRAY ?
(A) PUCTST (B) STerge (C) TR (D) A
Earthquake is measured by
(A) Barometer (B) Cardiograph (C) Seismograph (D) Electrograph
YU BT 999 fHar Srer 2
(A) RHfreR (B) BIfSaITS (C) RS (D) ST TS
G o @ 2w
(A) FiAfoR (B) FiGeaw (C) Priciae (D) BT

11 Turn Over
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STl G Tl ANID ? _

(A) TRIffex (B) SIREATITH (C) RyseruT® (D) SiE T
Which one of the following pairs of gases are the major causes of Greenhouse Effect?
(A) CO; and CH4 (B) COz and NO (C) CO;z and O (D) CFC and SO,
e g § ¥ B A1 AR T B TP PR §

(A) CO, Ud CH,4 (B) CO, TdNO (C)CO, T O3 (D) CFC Td SO,
Gl -3 e T eeicas &) Wifl 9

(A) CO, ¥R CH4 (B) CO, @k NO (C) CO, @R 05 (D) CFC ¥k SO,
(A) CO, 1 CH, (B) CO, 31 NO (C) CO, 31+ O3 (D) CFC 1% SO,
Green Revolution is associated with

(A) Sericulture (B) Agriculture (C) Fish culture (D) Forestry

(A) FF®IE UTer (B) I (C) A UTel (D) arfsrant

e e R e i 2

(A) GBI (B) IS (C) I B (D) I&

R wif~T Bfia FRId ® ?

(A) X¥H UTe= (B) TAITH (C) ATST YTl (D) arfsiat

The components of LPG are

(A) Methane and Hexane (B) Propane and Butane

(C) Ethane and Methane (D) Propane and Ethane

LPG & W& &

(A)FEF T R (B)WNA T s (O) 39 v g (D) W o 2R
LPG-IR Geeiivaafel 221

(A) fies e re (B) c@litei @ OB (C) ¥ ¢ fna (D) (22 8 AT
LPG- %! OCHE® B B 7

(A) B ofY 3R (B) Wt 1Y g&A (C) 399 A figg (D) W & s
Soil erosion can be prevented by

(A) Deforestation (B) Afforestation (C) Overgrazing (D) Ploughing
g & Pera B DT S Fhdl 8

(A) T-eTE (B) FERITT (C) 3T (D) e

P! T @I TR T

(A) T (B) TFCAAT (C) wioR& srapRet (D) T

12
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44,

45.

46.
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ERUIPT HETTHT HAY BATH TR ?

(A) STeT Biex (B) fapar R (C) SuTaT o] TR (D) TR

The pollutant responsible for ozone hole is

(A) CO, (B) SO, (C)Co (D) CFC

3ol g ¥g SRR Ugue ,

(A) CO, (B) SO, (©)co (D) CFC

T R o e Wi g 2

(A) COz' (B) SO, (©)co (D) CFC

ST fBrger A ugwe @

(A) CO, (B) SO, (©) Co (D) CFC

Asiatic Lion is found only in

(A) Manas (B) Kaziranga . (C) Gir Forest (D) Sunderbans

Rrrg g dad # 9T S §

(A) 77/ (B) BrSiRT (C) R Sirer (D) gexa+

af¥y PR et 3

(A) T (B) iferret (C) i o=y (D) &R

TRyaTfer RiE urgs veaE oS §

(A) 99 (B) PSR (C) R Sitre (D) gaxs+

Maximum amount of gas found in air is

(A) Oxygen (B) Carbon-di-oxide (C) Nitrogen (D) Ozone

arg # EHaH A H Ug W arel i

(A) 3iferiorT (B) FIdT-STE-3ifdgS  (C) MegIor (D) 3frsir

eI HART MR et T

(A) SRTew (B) FHF-TR-TTE  (C) AEEITE (D) T&I

qTGAT Fale® ATAMT UIS 79T &

(A) SffeRiTST (B) PTaT-SE-SHFEES  (C) TEEISH (D) TSI

Ganga Action Plan in India was launched in the year

(A) 1988 (B) 1986 (C) 1980 (D) 1978

IR H T TR @ {5 a¥ a1y fbar

(A) 1988 (B) 1986 (C) 1980 (D) 1978

OIS “of% SHF 2N’ BIe] T F© ACS

(A) 1988 (B) 1986 (C) 1980 (D) 1978

T QR I ARG B AR IO TRYPT 8 ?

(A) 1988 (B) 1986 (C) 1980 (D) 1978
13 Turn Over
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47.  Rain water harvesting is a major method implemented for
(A) Water conservation (B) Soil conservation
(C) Forest conservation (D) Ecosystem conservation
a8t et e e g o fpar S aren gEf ©
(A) STeT HRETT (B) gaT xeqvr
(C) a1 ER&o (D) TTRReIfres! T HREToT
7B T HREAN GF GO
(A) T I (B) Sf&s! weaa (C) T FTH (D) IrEOT IRIF
gResTe! FUeRY & 1 ik e weld 8 ?
(A) TTHTRT HRETOT (B) &<l &1 wxEor  (C) I HRE (D) TTRT=IDT GR&TIT
48.  Ramsar Convention is related to
(A) Deserts (B) Wetlands (C) Agricultural lands (D) Forest land
RTFRIR ARTer Hafer 8
(A) FERI (B) e © 2 4 (D) &
AR SR PIB3 A0 1 2
(A) g (B) =g ©(C) PR (D) 3 FRIFHCEIR AL
RTFRAR ARIer BRI TR © 2
(A) TR (B) e (C) P (D) ST
49.  Which of the following is Secondary pollutant?
(A) CO, (B)CO (©) 0 (D) SO,
g & ¥ oF o e ugwe ©
(A) CO, (B) CO (C) O3 (D) SO,
(I G (e 77 2
(A) CO, (B) CO (C) O3 (D) SO,
e g =T R wgue @ 2
(A) CO, (B) CO (©) 0O (D) SO,
50.  The ecological pyramid that is always upright
(A) Pyramid of energy (B) Pyramid of biomass
(C) Pyramid of number (D) None of these
aRRerfe fRife S &9 e gl 8

(A) STt &7 RIS (B) SraMR &1 RRifie (C) ween &1 fxifis (D) S8 & BIg el
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S

52

583

1121

JEoCE @ PRfire 7t e 2

(A) *fex Prafie (B) e PRIfe () e Prile (D) e
B aIRT=T fARifre wifter arel g7 2

(CNRICTARENIES (B) I fiRTie

(C) ST fUxifie (D) A 7Y G Ul BIeH

The first protected area in India is
(A) Silent Valley

(C) Bandipur Sanctuary

ARG BT YH HRIE &

(A) gete deft

(C) SR SR

ST A2 TS TeeaT Za

(A) AT wifer

(C) =7 syRER

IRAGYD! Ufgelr FRR o/ 8
(A) HTgeiT Heelt

(C) IIFEQR AR

The only ape found in India
(A) Gorilla (B) Chimpanzee
®Id R H YT S dTel §e%

(A) MReaT (B) fRigrsft

VY OIFCS AN T AT GFH @ (I W) T

(A) stz (B) femeiifes

ARTISHT 913 UIsH USel 990 & —
(A) MReeT (B) Ry=arsh

Producers in an ecosystem are

(A) Bacteria (B) Animals
T TR o § S §
(A) Sitarg (B) 71
qweCE ST =T
(A) Izl (B) e
IS

(B) Corbett National Park
(D) Nagar-Hole National Park

(B) dlde I e
(D) AFREA T ST

(B) FHCI6 GRS Swpley
(D) oNR-(T SR Tyt

(B)aﬁ‘\fa—c' MR ST
(D) TRR-BI [ S&

(C) Hoolock gibbon (D) Oranguttan

Oz fies (D) aiRreem
(C) = fivm (D) SAREBR
© e fra (D) siRrfer
(C) Green plants (D) Consumers
(€)= dig (D) SuHIad
(C) 7@ Tfen (D) A

Turn Over



UG/CBCS/B.A./1st Sem./Environmental Studiess AECCENVS/2019

54.

557

56.

1121

STl UIRG=H SUGHES 1

(A) SR (B) gt

The direction of energy flow is

(A) Unidirectional (B) Bidirectional
Sl vars 1 e @

(A) TP (B) fafe=r

& 2] SfoT 2

(A) =3 (B) fed
SEUCEREAR I

(A) THABT (B) feeroef

Reasons for man-animal conflicts are
(A) Shrinkage of forest covers

(C) Shortage of desired food in forests
FI%-UY b HEY B DR §

(A) T JTEBTET BT Hhra

(C) SiTet # qifed HIo B

TR @ I 2T =7ra I =

(A) SRR AR 207 2ftea

(C) TRy 2T Reed I

G- §TED] DRUEH G

(A) STl THISHAT BHI

(C) ST SUgh TTerdl I

Which problem is not related to big dams?
(A) Seismic activity

(C) Habitat destruction

P & TR I S Y e T8 Y
(A) T Tafaf

(C) frara == &1 farer

32 3l e i TG iS¢

(A) SRR fEFietst
(C) SNRIFECER L AL

16

(D) STHIEITES

(C) sRaT arefa

(C) Cyclic (D) None of these
(C) = (D) Flfr q PIg T
(C) TRSFNA (D) 907 @A 7
(C) T (D) T °fy B

(B) Human encroachments into forests
(D) All of these

© (B) SiTall ® AME SAfshHCT

(D) ST w4l

(B) SRR AARCIC Neeas sl ereqe
(D) it A0

(B) SHTETAT AI9a JAfcrshaor
(D) 7ot fegwaT |

(B) Submergence of large fertile lands
(D) Electricity generation

(B) ST IS1 SUSIS 4
(D) fagge S<ures

(B) T2 BRI & e 28
(D) Rypexifers Teswa
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57.

58.

59.

60.

1121

geq SE-RT T wEer SR O 2

(A) g Tfafafey (B) QoI Hferel ST

(C) arevereanT &fay (D) faget ScaTe=

Causes of desertification are

(A) Forest destruction (B) Overgrazing (C) Salinization (D) All of these

FHRRICHDBRY] B PHRT & |

(A) 3 farer (B) stferarers (C) wrafdraer (D) SRITT w4y

SRR PIRe! (I 9

(A) SReRe (B) TaIfoRe srepme (C) TRNEH7 (D) SR srmafs

TABRYT BT HRUEH &

(A) a9 fa=Ter (B) ¥ a7 TWE  (C) TR (D) #1fraT |

The efficiency of energy flow in the ecosystem is about

(A) 1% (B) 10% (C) 50% (D) 100%

RIS & % Soif yare B g s 2

(A) 1% (B) 10% (C) 50% (D) 100%

TEOCH PR *Ie 2 2T @

(A) 1% (B) 10% (©) 50% (D) 100%

URTHT IR yaTESH! A= 8 —

(A) 1% (B) 10% (©) 50% (D) 100%

The main component of ‘Biogas’ is

(A) Nitrogen (B) Oxygen (C) Methane (D) COo,

ST BT g T ®

(A) TEsIoT (B) Sffa¥iior (C) e (D) CO,

oS o oAl 2o -

(A) RCEICE (B) wif3ice (C) fiem (D) CO,

TS I USH 8 ,

(A) TSI (B) 37T (C) fAe (D) CO,

Which one is located at the top of an Ecological Pyramid?

(A) Consumers (B) Herbivores (C) Producers (D) None of these

aRRerf s & o o Rer @

(A) Sy¥rERT (B) ATHTERY (C) SUes (D) §74 & B1E T
17 Turn Over
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(A) AV (B) iCoI& (C) Teotivs (D) @B
uRafS RRifeAT gatee I & o JNCH! §9 ? —
(A) STHITITES (B) YMHIERIES (C) SHUTEHE® (D) F Ul BIsA

61.  Biodiversity
(A) Increases towards the equator (B) Decreases towards the equator

(C) Remains same throughout the planet (D) Has no effect on change in latitudes

SEREIEERI
(A) 9He G &Y 3R q§ el § ©(B) ¥ X @ AR HE TN 8§
(C)R TE ¥ T ST & 2 (D) sereit # TRae W BIE T TE TS '
G (@ '
(A) R e e 3= ) (B) R wizetera TWes 21 A
(C) 2teZ el SRT¥ G AN (D) BIRER* ARTEH I o 18 *
Stafafderar
(A) SHICRRR TSa D (B) STRRR ¥ W7o
(C) Y2ARY SR &0 (D) AfeEIE®! feTaTel g SR UIed
62.  Recycling of matter repeatedly occurs through the process
(A) Ecological Succession (B) Ecological Pyramid
(C) Biogeochemical cycle (D) Energy flow

7 uftpar & wegm ¥ el &1 IR-SR YD Bl §

(A) SPIATIDe e (B) TRRerfre frifis
(C) PRI Tsh (D) St yaTE
o ~micdd IR SF I SIS A0 (T AZOro
(A) TG AFC (B) TREea e
(C) ToR-g AARE b (D) *If& 2=
yereie! @ uR-gR g UERERT TEIRS ?
(A) SPIRIDE HaTT (B) wRafa faxifas
(C) SRS Fh (D) =Ifh uare

63.  Botanical Gardens are examples of
(A) in-situ conservation (B) ex-situ conversation
(C) in-vivo conservation (D) ex-vivo conservation

I Sere SaTENvl 8
(A) ‘s-die e (B) Y=g wRer (C) ' far w=eror (D) ‘va faar Axeror

1121 18 v
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QBRI oS 251 GFeF -

(A) &9-05 el (B) qo-Bf ke (C) T-ferei e (D) G3-fore! Fkarw
SR SEFE® B Pl SarexYT g

(A) TR e (B) TRATY WRE0T  (C) 3-foredy wvamor (D) ver-fy ey

Ozone hole is highest in .
(A) Antarctica (B) Africa (C) Europe (D) India

A fog Haife & —

(A) STeTafeaT (B) 3Tt (C) T (D) =
e 8% (Ozone hole) i @ICT

(A) SHFBRFICS (B) fFIce (C) &t (D) ©FC®
Faiftre SU=D! @ Bl §0 ? -

(A) SFeTBCDT (B) 3ThTepT (C) IR (D) AR
Covering the soil surface by straw, leaves or grasses is known as

(A) Mulching (B) Terracing (C) Leaching (D) Crop rotation
g o FaE 1 yeiel, URIAT a7 =T ¥ P BT Bel ol 2

(A) TR (B) WIER & (C) etz (D) B Tsh
el ool 1T, 7110l ¢ wel QiR SR FHICT &1

(A) TEADR (B) GAIPR (C) iR (D) & @I,
eI TR URTE, UIUiaR JfaT Hiel Be Ugfadg ® 9 2

(A) Afeers (B) fexfie (€ fafrs (D) B =sh
The animal which consumes decaying organic matter is

(A) Carnivores (B) Detritivores (C) Herbivores (D) Producers
FIHRY Sifde et &1 Fad H arer url ©

(A) wieHel (B) SEICERY (C) 2MPTERY (D) S<TED

T A1 A5 (o AL (I ({5 AT OIS

(A) SR (B) TGN (C) *IF (Pe&) (D) TeArs
TR RIS R TGP Ve TED

(A) iR (B) Sfeeri (C) TThTERY (D) SUECHES

A river with high BOD value is

(A) Highly polluted (B) Highly clean (C) Highly productive (D) Both ‘A’ and ‘C’
S=d BOD Hod drell U el §

(A) sl ggfvd G ERIEEIREES

(O SIEEASIEEHIE] (D) ‘A’ Td ‘C’3
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T BOD J& <1 1l 261
(A) SoxaR e (B) it sifiwa
(C) SSwgIT Tesmaer (D) ‘A’ @ ‘C’ Tem
I BOD & AT YT 78] 75
(A) 31T ugfie (B) siforer=s (C) a1fty Sereefie (D) ‘A’ a1y ‘C’ g
68.  The Indian Environment (Protection) Act came into force in ‘
(A) 1976 (B) 1986 (C) 1988 (D) 1996
IR gafaRor (Rern) S o] g
(A) 1976 (B) 1986 . (C) 1988 (D) 1996
SIS A 7 W2 2ApfETe 77 |
(A) 5590 (B) S5b-Y (C) Sobbr (D) S5dY
ARy TITaRYT (ReM) U7 T a9eRe AN T & 2 L
(A) 1976 (B) 1986 (C) 1988 (D) 1996
69.  The first International Conference on Environment was held in
(A) Stockholm (B) Johanesburg (C) Rio-de-Janeiro (D) New Delhi ‘
TITeROT TR IEEAT SIRTEIT TR gaiT o | }
(A) wiwem (B) Sirer=Tat ©) R & SPRAT (D) 7F R ‘
MR 7o1fRF Ieters R Sewerais @ e 2Rt ol 2
(A) BN (B) ezl (C) e f% oyeat (D) =31 frht
Tfeell RIS TafaRel A=erT wat woar PRl ?
(A) RIHEH (B) St ©) Rt fs sARaT (D) 75 fResh
70.  Which one is a communicable disease?
(A) Cancer (B) AIDS (C) Malaria (D) Tuberculosis l
DI AT TP HhIh T & ?
(A) BER (B) T&H (C) 7R (D) &raRT
IS =FI ot 2
(A) i (B) 93w (C) st (D) foT=fscanom
AT AT HA /T ?
(A) TR (B) Ts¥ (C) Wi (sirelwai) (D) erarr
71.  Main reason for the disease ‘jaundice’ is
(A) Air pollution (B) Water pollution  (C) Thermal pollution (D) Soil Pollution
GIferar T BT T BROT B
(A) a1g Hguor (B) STt SreerT (C) Tmér TgwoT (D) ST g
1121 20
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B EI0E T S 29 - .

(A) g 7=l (B) &1 73 (C) ¥t el (D) et et
5= (jaundice) TP I&T HROT &

(A) 1y Tgmu (B) STel UgHUT (C) i ggwoTr (D) ATST U5y
Environmental impact of mineral extraction does not include

(A) Atmospheric pollution (B) Metal production

(C) Loss of forest (D) Degradation of land

et fspyer & yaiaReiT g § e =8 @

(A) AU GGET  (B) U1 WGWOT  (C) STl BT FHAH (D) A T &RoT
fee [EHICTR e SRR B0k 2ok RS 563 oI (3 9610

(A) AN et (B) 49 ey (C) ey TRt (D) & TR ST
TS YETRId] JeAuel JITaRUTeTs U SR &

(A) IIYATSAT UGV (B) T UG (C) STeTdT B (D) ¥ 2Uer

The causes for flood in the plains are
(A) Removal of plant cover (B) Soil erosion over hill slopes

(C) Deposition of sediments at river basin (D) All of these

HETN TTd! | 9GP BRI &

(A) TR & A8 BT AT (B) UBTE! g™l WX AT BT &wor
(C) <Y IR WR 3ravEl @1 fHeT (D) Suad T+
TG I el 2=

(A) o S (B) “1RE! BiteT Jferia w7

(C) ! SRR »Ifer Fxeq (D) EfFRe ==

R AT ASHI BRIES &

(A) TR HATED! AT (B) TBTS] ST eRADT TS

(C) AfSH=d! - HIEHAT (D) H1freT |

Impact of population explosion on environment include the following except

(A) Deforestation (B) Tropical cyclone

(C) Biodiversity destruction (D) Water Scarcity

TRV W ST e & UMIa @ Sfavia ReforRad o1 enfier et e mam
INERRERIE ; (B) SWIhicae I Tghard

(C) via fafderar &1 fammer (D) S BT 3@
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T TS AR TR 677 THRTPRY 2SR [8E T

(A) SRR B) freAm gfRe () G &A (D) & RO
TR ST RSPIEdT TATaHE qerl ared B Al ared B ?
(A) ST : (B) Ziftee SIFECI
(C) Srafaferare! faATeT (D) Serel 3T
75.  Reasons for displacement of people are
(A) Wars (B) Natural disasters
(C) Developmental projects " (D) All of these
AT @ RIS BT R E
(A) 3= (B) THRE amar  (C) fdrerd afkasr (D) Sudaa
s Bepten el =
A)T& (B) &igfos R (C) TmFe aes (D) T s
ST fAReITIR®] BRUES § _
(A) ST (B) WTpfid T
(C) RrererE® IRASHES (D) AfreT |
76.  Which of the following is not a renewable source of energy?
(A) Thermal power (B) Hydroelectrical power
(C) Solar energy (D) Biomass energy

RrefeRad & § B ol BT ANHET T T T |

(A) AT Sl (B) g ot (C) MR Huil (D) IR Sl
kiR @G FReeEn] =few T w1 ¢

(A) Oi7HfE (B) TRpe =& (C) G (D) AR =&
oS qEE Ao Sul A B ?

(A) A =Rh (B) wfaga oRe  (C) W wifkh (D) ST TRD

77.  The term ‘smog’ was coined by

(A) Schmidt (B) Hertwig (C) Benedon (D) Des Voeux

() e (B) gefaT (©) T (D) SF I
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(RPN *CHR 2R 2T
) (B) 2582 (C) @I (D) (% ST

T IAEDT TG DI g

(A) Ree (B) &<faT (C) Ivrs+ (D) 39 9T
Biome is
(A) The fauna of an Ocean
(B) The flora of land
(C) Communities of organisms interacting Witil one another
i (D) None of the above
CIRIC S
1 (A) TP WERITR $T S  B)4f A Ty
(C) T TR Hafdr Shat a1 wgem (D) T 4 15 TE
A 2%
(A) @6 SRR A (B) =eToI0R Sfegn
(C) &I PRI T Wit e Wefzw (D) S @iE o
I &
(A) gD TN (B) SFITT gty
(C) ST FRTI-ThIabT Teafre (D) 1 Uy IsH
79 The term Alpha (o) diversity refers to
(A) Genetic diversity (B) Community diversity
(C) Species diversity (D) Plant diversity
3T fafderdT Hafia oear &
: (A) e fafdear (B) wrgeRie fafderr
(C) uSTreirar fafderam (D) urey faferan
Z e o =l o s
(A) fE=9e (foey (B) M (fow (C) &&ifs by (D) Tfew @foay
ST ST Berrg afves
(A) orifes Rfdear (B) WIS fafder
(C) wotferTa fafaerar (D) gafy faferar
1121 23 TU_I‘I: Over
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80.

1121

The Ocean covers

(A) 51% (B) 61%

©) 71% (D) 91% of earth’s surface

TENRTR gt & fohae ufera 54 &7 =R 8¢ 8

(A) 51% (B) 61% (©) 71%
RN 7R T AR SO T R 2
(A) €% (B) ©5% (C)a%%
AENRITR Yediap] By Fier ANCH ©
(A) 51% (B) 61% (©) 71%
X
24

(D) 91%

(D) 55%

(D) 91%




